                                                                          Cholesterol          Systolic

                                        Intercept              (mg/100 mL)               Blood Pressure                         Cigarettes

Logistic                       −11.6246            0.0179(0.0036)           0.0277(0.0085)                  1.7346(0.6236)

Discriminant               −13.5300             0.0236(0.0039)           0.0302(0.0100)                   1.1191(0.3549)

------------------------------------------------------------------------------------------------------------------------------------------
a) Calculate the probability of CHD for a male with the following characteristics:

age = 35 years; cholesterol = 220 mg %; systolic blood pressure = 110 mmHg;

relative weight = 110; hemoglobin = 130 g%; cigarette code = 3; and ECG

code = 0.

(b) Calculate the probability of CHD for a male with relevant characteristics defined

In part (a), for both the logistic and discriminant models.

(c) Interpret the regression coefficients of the logistic model.

(d) In comparing the two methods, the authors state: “Empirically, the assessment of

significance of a variable, as measured by the ratio of the estimated coefficient

to its estimated standard error, is apt to be about the same whichever method is

used.” Verify that this is so for this problem.

